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1. Choose the correct answer/Answer the
following : 1x8=8

(a) What is perspective planning?

(b) The Five-Year Plan in which “towards
faster and more inclusive growth” was

targeted is
() 9th Plan (i) 10th Plan
(i) 11th Plan (iv) 12th Plan
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(c)

(@)

(e)

(9

(h)

(2)

To whom ‘.. revolutionary change in
agricultural productivity is an- essential
condition for successful take off’?

() G. M. Meir
(@) J. M. Rauch
(i) Rostow

(iv) Nurkse

Who is associated with surplus labour?

) J.S. Mill

(i) A. C. Pigou ¢
(iii) Rostow

(iv) Nurkse

The main problem faced in
industrialization in India is

(i) environmental degradation

(ii) regional disparity

(iii) difference in income distribution
(iv) All of the above

What is the full form of SEZ?

What is the rank of India as the FDI
recipient country?

Mention one of the problems of !
agricultural transition in the hill areas

of North-East India.
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(3)

2. Write short notes on any four of the following
(within 150 words each) : 4x4=16

(@) Objectives of Indian Economic Planning
(b) PDS in India

(¢) Labour intensive technique

(d) Health status in NER in India

(e) FDI

(f)  Shifting cultivation in North-East India

Answer the following questions (within
500 words each) :

3. (a) Distinguish between centralized
planning and decentralized planning.
Discuss the major features of Twelfth
Five-Year Plan of India. 7+4=11

Or

(b) Explain the role of community and
voluntary organization in successful
operation of economic planning. 11

4. (a) Give an account on the barriers to
agricultural growth in India. Also
suggest some measures to remove such
barriers to agricultural growth in India.

7+4=11
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(b)

(b)

6. (a)

(b)

(b)
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()

; Or

What is green revolution? Discuss green
revolution in the context of Indian

agriculture. 1+10=11

Compare the advantages  and
disadvantages  between  large-scale
industries and small-scale industries.

Or

Draw an overview on the Indian
industrial progress after liberalization.

What is economic globalization?
Describe the basic features of economic
globalization. What are the effects of

economic globalization? 24+5+4=11

Or

What do you mean by portfolio
investment? Describe the impact of
foreign portfolio investment in Indian

11

economy. 3+8=11

Make a comparative statement between
development experience of North-
Eastern States with that of all India
average.

Or

Discuss the problems and prospects of
agriculture in North-East India.
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